GCSE History Unit 1 Section B 
Conflict and Tension in Asia, 1950-1975
STUDY GUIDE
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HISTORICAL PROFILES



THE COLD WAR

One of the most important people of the 20th century died before it had even started.  Karl Marx.  He wrote some very famous books, in which he said people belonged in two ‘classes’ (groups);

1) The RICH – Capitalists (capital means MONEY)

2) The POOR – Workers (Proletariat)

Marx said these 2 classes were enemies and would eventually fight one another – the workers would win!  Revolution would remove the rich landowners and factory owners from power * Followers of the ideas of Karl Mark are called Marxists – Marxism became ‘Communism’.

Communists believe;

· The ‘State’ (government) should be responsible for all the people within it 

· The State should provide jobs for everyone
· The State should own all the means of production; factories, farms, railways etc.

· There should be NO private enterprise – prices should be strictly controlled by the State
· There should be NO social classes – everyone is equal
Communism in the USSR

But Communism didn’t work like this. In Russia in 1917, a revolution did occur, but the Communists who took over did not run Russia the way Marx had thought it would be.  Lenin, and later Stalin, ran Russia (the USSR) as a DICTATORSHIP – just like Hitler’s Germany. The Russian people lived in fear and intimidation of the Soviet government and also suffered from the fact that there was no private investment or money being invested in Russia. Under Stalin, over 20 million Russians died from working in the Siberian Gulags (concentration camps) or from execution.

The USA

America in the 1940s was very different from the USSR. It was a democracy, and was thriving upon capitalism – private investment into industry, huge companies creating new products to buy and sell; WW2 had created huge demand for America’s goods. It was a boom time, which benefited many Americans. Though there was a large proportion of the population who were NOT benefiting from this prosperity; the poor, African Americans, immigrants etc.

The Cold War; The USA Vs USSR

The USA and USSR worked together during WW2 to defeat Hitler. By May 1945, the Germans were defeated. However, the USSR had lost the most men and suffered terribly from famine and destruction. Stalin decided that rather than withdraw his troops from the lands where he had defeated Hitler, he would keep his troops (the Red Army) there and occupy land for Russia. These were places such as Poland, Czechoslovakia, Hungary etc.  The Americans saw this as a huge threat – Hitler had been replaced by Stalin! The USA was determined to stop Communism from spreading even further – in Europe or Asia.
Q1B, Why did the USA and USSR dislike one another?
Why did the US get involved in Korea? 

1. The USA was a capitalist country, the USSR a communist country. The Cold War in Europe was developing; Stalin’s Red Army was occupying Eastern Europe, Truman set up The Truman Doctrine, Marshall Plan, and the general US policy was ‘Containment of Communism’ so there was an increase in division and mistrust between the USA and USSR. 
2. The fall of China to Communism in 1949-50 was a direct threat to the East. The USA saw the fall of China as directly attributed to influence from the USSR. The Chinese Communists, led by Mao Zedong, fought the Chinese nationalists, led by Chiang Kai Shek. The USA had supported Chiang from 1946-49 with millions of dollars in aid and military equipment. When China still fell to Mao, Truman was heavily criticised for not doing more to prevent the Communist victory. It looked like a victory for Communism against Capitalism, so the USA was reluctant to allow another S.E.Asian country to fall. A communist dominated Asia would be disastrous for US TRADE.
3. The Japanese had been defeated so quickly in Korea, and with Soviet troops already in the region, Truman worried that the Red Army would occupy the whole of the Korean peninsula, and then spread to other regions of Asia.  Korea was then divided at the 38th parallel to stop the Russian advance, with the USA occupying the Southern half of Korea.
4. When the Soviet Union refused to hold universal elections in North Korea in 1947, Truman took the problem to the United Nations. The USSR was boycotting the UN (refusing to be involved) so couldn’t vote in any UN decisions. In November the UN then formed the U N Temporary Commission on Korea, or UNTCOK which supervised free elections on 1948, bringing Rhee to power as President of the Republic of Korea.  The US had been hugely involved in establishing Syngman Rhee as leader, with help from the UN.
5. In September 1948 the Democratic People’s Republic of Korea (DPRK) was formed with Il Sung as leader. The North Korean Army invaded the South in the pre-dawn hours of Sunday, June 25, 1950, crossing the 38th parallel. The US viewed this as a direct attack upon the capitalist South.
6. The United Nations Security Council met in a few hours and passed the UNSC Resolution 82 criticising the North Koreans. The resolution was adopted mainly because the Soviet Union, a veto-wielding power, had been boycotting proceedings since January, in protest that the Republic of China (Taiwan) and not the People's Republic of China held a permanent seat on the council.  The UN therefore voted for intervention against Il Sung.  The USA therefore had the justification she needed to get militarily involved in the conflict
In summary, President Truman had read the Korean situation as part of fight to contain and stop COMMUNISM;
Q2. What reason/s does Truman give for getting involved in Korea?
Why did the US get involved in Korea?

Q3. Highlight/code the notes on the previous page into the 5 types of causes below and then write 3 bullet-points for each of the CAUSES of US intervention in Korea below;

	Type of Cause
	Bullet-point factual detail

	1) Political factors; US Internal (what was going on inside USA i.e. McCarthyism etc.)
	- 

- 

-

	2) Political factors; International (what was going on outside the USA i.e. The Cold War, United Nations etc.)
	- 

- 

- 

	3) Economic factors (money, trade, wealth)

	- 

- 

-

	4) Military/
strategic factors


	- 

- 

-

	6) Any extra causes


	-


What were the main events of the Korean War, 1950-53?

STAGE ONE; North invaded South


STAGE TWO; Operation Chromite



STAGE THREE; ‘Roll back’ into North Korea



STAGE FOUR; The Chinese invasion



STAGE FIVE; Stalemate and the 1951 Offensives


Why did the war take so long to end?
Q4. Stages of the war; using the notes on the previous page summarise each one below in your own words;

Stage 1 = 

Stage 2 =

Stage 3 =

Stage 4 =

Stage 5 =

Q5. Whose fault was the stalemate? Use the information on the next page to find evidence for both boxes below;


Reasons for stalemate
1. “the reluctance of the USA to escalate the war beyond North Korea into China” – this might trigger war with the USSR, also China might send thousands more troops, and the UN had not said they would support roll back INTO China. Truman sacked MacArthur and made it clear US troops must not enter China
2. “the terrain of Korea was too harsh for UN troops” – cold, snowstorms, jagged mountains, forests, ravines, swamps, malaria; the Chinese were well used to conditions like these but the US/UN troops weren’t.
3. “the government of South Korea under Syngman Rhee was already too corrupt” – the US were forced to support Rhee as he had been established by elections in 1948 as the President. But, he was corrupt, selfish and ruled like a dictator. The US did not want to risk a full all-out world war with China/USSR to support such a corrupt leader.
4. “the North Koreans were getting a large amount of support from the USSR and China” – China sent 200-300,000 CPV soldiers to help North Korea, as well as the USSR sending tanks, weapons and planes. The USSR could help with strategy and tactics also. The Chinese taught the communists to hate the USA. Very difficult to fight an enemy with two powerful allies.
Stalemate was reached by early 1951 and peace talks began in June 1951.
In July 1951, President Truman and his new military commanders started peace talks at Panmunjom. 
Still, the fighting continued along the 38th parallel as negotiations stalled. Both sides were willing to accept a ceasefire that maintained the 38th parallel boundary, but they could not agree on whether prisoners of war should be forcibly “repatriated.” (The Chinese and the North Koreans said yes; the United States said no.) 
Finally, after more than two years of negotiations, the enemies signed an armistice on July 27, 1953. 
The agreement allowed the POWs to stay where they liked; drew a new boundary near the 38th parallel that gave South Korea an extra 1,500 square miles of territory; and created a 2-mile-wide “demilitarized zone” that still exists today.
Why did the stalemate last so long?
· Arguments over POWs – many North Koreans and some Chinese troops who had been captured by the South/UNC did not want to return to the North/China. The USA did not want any of them to return – both sides argued about POWs.

· The US/UN kept on heavily bombing North Korea all the way through the peace talks – Pyongyang was reduced to rubble

· Syngman Rhee refused to compromise and ordered further attacks on the North

· China worried that the US might consider expanding the war 

Why was the stalemate broken?

· Eisenhower became Pres in USA in 1953, he promised to end the war

· Stalin died in March 1953, the North Koreans/China weren’t sure that the new leader would support them in a war with the US

Had the war been a success?
· Communism was contained at the 38th Parallel and South Korean remained capitalist under Rhee. The US had also supported Chiang Kai-Shek (Taiwan) = containment
· The United Nations had acted quickly and decisively

· The US/UN had killed over half a million Chinese communists 

· 1954 US formed SEATO; designed to contain communism in Asia (led to Vietnam)

BUT,
· The Korean War was relatively short but exceptionally bloody. Nearly 5 million people died. 
· More than half of these–about 10 percent of Korea’s pre-war population–were civilians. (This rate of civilian casualties was higher than World War II’s and Vietnam’s.) 
· Almost 40,000 Americans died in action in Korea, and more than 100,000 were wounded
· North Korea had been lost to communism and formed a tight friendship with China and the USSR – N. Korea was a buffer zone

· COST – defence spending rose from 12-60 billion dollars

· Only got UN support as USSR had been absent from the vote

· SEATO made USSR and China hate the USA even more – more likely to support opposite sides in future Asian conflicts
ALSO,

· The Korean War heightened US fears of further Soviet aggression elsewhere, therefore the NSC-68 recommendations to triple the defence budget were approved
· The Korean War effectively globalised the Cold War. It was no longer just a European conflict but a global conflict which would also affect other parts of the developing world
· It also led to increasing militarisation. Both sides increased their military budgets, with the USA’s military budget reaching 10% of GNP in the 1950s
· The USSR increased the size of the Red Army from 2.8 million troops to 5.8 million!
Q6. Was the Korean War a success for the US? Use the information on the previous two pages and EXTRA from the Internet to fill in the diagram below;


Q7. Use the information in this Study Guide and anything else you think might help to fill in the diagram below;
	CAUSES


	EVENTS


	CONSEQUENCES



EXTRA NOTES;
Glossary; COMPLETE ALL WORDS

	Capitalism


	Communism

	Containment
	CPV (Chinese)



	38th parallel
	General Douglas MacArthur



	Inchon Landings
	United Nations




Complete all exam-style Qs;
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1. Study Source D. Source D is critical of MacArthur. How do you know? Explain your answer using Source D and your contextual knowledge.  4M
2. Write an account of how events in Korea became an international crisis by the end of 1950. 8M

3. ‘The only winner in the Korean War was the US arms (weapons) industry’. How far do you agree with this statement? Explain your answer.  16M

Who are the significant individuals we will study in this topic?





Q1A. Use the Internet to research each person and fill in the profiles below;














NAME; Douglas MacArthur, 


COUNTRY;





EARLY LIFE;











POLITICAL IDEAS;











INVOLVEMENT IN THE KOREAN WAR;














NAME; Syngman Rhee, 


COUNTRY;





EARLY LIFE;











POLITICAL IDEAS;











INVOLVEMENT IN THE KOREAN WAR;














Which person had the biggest effect/impact on the Korean War?














WHY?











NAME; Kim Il Sung, 


COUNTRY;





EARLY LIFE;











POLITICAL IDEAS;











INVOLVEMENT IN THE KOREAN WAR;














“Communism was acting in Korea, just as Hitler, Mussolini and the Japanese had ten, fifteen, and twenty years earlier. I felt certain that if South Korea was allowed to fall communist leaders would be emboldened to override nations closer to our own shores. If the Communists were permitted to force their way into the Republic of Korea without opposition from the free world, no small nation would have the courage to resist threat and aggression by stronger communist neighbors.”





Throughout July 1950, the North forced the USA/UN and South Korean troops back to the South - East corner of South Korea.


On 29th July General Walker created the Pusan Perimeter as a defensive line


Throughout all parts of Korea, American bombers knocked out the main supply dumps and eliminated oil refineries and seaports that handled imports.








In June 1950, Truman asked Congress to increase the military budget from $13 billion to $48.2 billion and to dramatically increase the US Armed Forces.


MacArthur planned the Inchon Landing (Operation Cromite) as a counter-offensive.  


September 15th. The landing was a decisive victory


Seoul was restored.  


By Oct 1st, the combined UNC forces were at the 38th Parallel.








The UN forces crossed into North Korea in early October 1950. 


The Eighth U.S. Army, along with the South Koreans, drove up the western side of Korea and captured Pyongyang on October 19th. 


The UN offensive greatly concerned the Chinese, who worried that the UN forces would not stop at the � HYPERLINK "http://en.wikipedia.org/wiki/Yalu_River" \o "Yalu River" �Yalu River�, the border between North Korea and China, and might extend their rollback policy into China. 











Il Sung had asked Stalin for assistance but he had been reluctant. The Chinese created the CPV (Communist Party Volunteers) – 300,000 fighters on the 14th October and attacked the UN troops. 


The Chinese allowed the UN troops some successes (Pyongyang and Wonsan) to make them think they were achieving easy victory – but then counter-attacked and by November the combined UNC forces were cut off in North Korea.


During the early negotiations the Chinese delayed the proceedings by rejecting proposals.  The US took this opportunity to re-gather their forces.





Some of the US Second Division and the US First Marine Corps were trapped at the Choisin Reservoir; a humiliating defeat.


The US army then introduced the policy of attrition – gradual wearing down of the enemy using heavy artillery and air support.


General Ridgway launched a series of attacks; Operation Killer, Ripper and Rugged.  


MacArthur wanted to push onto victory and bomb China.


Truman and the JCS decided MacArthur had to go 





North Korea/China/USSR’s fault the stalemate dragged on;








US/UN’s fault the stalemate dragged on;





NO





YES





Source D








